=32

=244

=142 p
MeanzSD 28.9+4.9 29.5+4.6 31.4+3.6 < 0.0001
8 (25.0%) 9 (3.7%) 3 (2.1%) < 0.0001
() 15 (46.9%) 85 (34.8%) 24 (16.9%)
9 (28.1%) 150 (61.5%) 115 (81.0%)
13(43.3%) 68(28.3%) 51(36.2%) 0.04
0(0.0%) 15(6.3%) 15(10.6)
1(3.3%) 20(8.3%) 21(14.9)
0(0.0%) 1(0.4%) 0(0.0%)
0(0.0%) 13(5.4%) 3(2.1%)
4(13.3%) 47(19.6) 22(15.6%)
4(13.3%) 22(9.2%) 7(5.0%)
2(6.7%) 5(2.1%) 3(2.1%)
6(20.0%) 49(20.4%) 19(13.5%)
33.545.3 32.4+4.8 34.2+4.5 < 0.0001
9 (28.1%) 19 (7.8%) 5 (3.5%)) <0.0001
() 13 (40.6%) 78 (32.0%) 22 (15.5%)
10 (31.3%) 147 (60.3%) 115 (81.0%)
1(3.2%) 22(9.3%) 19(13.8%) 0.01
0(0.0%) 10(4.2%) 18(13.0%)
0(0.0%) 8(3.4%) 2(1.5%)
0(0.0%) 5(2.1%) 1(0.7%)
9(29.0%) 60(25.3%) 33(23.9%)
10(32.3%) 71(30.0%) 30(21.7%)
9(29.0%) 26(11.0%) 14(10.1%)
0(0.0%) 3(1.3%) 1(0.7%)
2(6.5%) 32(13.5%) 20(14.5%)
7 (22.6%) 13 (5.5%) 4 (2.8%) 0.0006
2 (7.7%) 19 (8.4%) 4 (3.2%) 0.15
24 (92.3%) 206 (91.6%) 123 (96.8%)
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n=32 n=244 n=142 p
(7)) 0.55+0.32
1 20 (66.7%) 177 (74.4%) < 0.0001
19 (65.5%) 123 (54.0%) < 0.0001
15 (75.0%) 76 (59.0%) 0.30
5 (25.0%) 46 (35.7%)
0 (0%) 7 (5.3%)
(hr) 2.7£34 1.3+1.8 0.06
2 9 (39.1%) 117 (54.7%) < 0.0001
8 (66.7%) 67 (56.8%) 0.36
3 (25.0%) 48 (40.7%)
1 (8.3%) 3 (2.5%)
(hr) 1.7£34 1.7+2.6 0.9
(Catinine) 2.2+4.0 1.86+3.4 1.83+4.7
(ng/ml) *
a

ttest



(n=32) (n=244) (r=142) (n=418)
CYP1A1
CYP1A1*w 0.67 0.69 0.66 0.68
CYP1A1*v 0.33 0.31 0.34 0.32
(nx2) 64 488 284 836
(%)
wiw 15(46.9) 118(48.4) 69(48.6) 202(48.3)
wiv 13(40.6) 102(41.8) 50(35.2) 165(39.5)
. 4(12.5) 24(9.8) 23(16.2) 51(12.2)
NAT2
*4 0.48 0.53 0.55 0.53
*5 0.03 0.05 0.05 0.04
*6 0.30 0.26 0.26 0.27
*7 0.19 0.16 0.14 0.16
(nx2) 64 488 284 836
NAT2 (%)
22(68.8) 186(76.2) 109(76.8) 317(75.8)
10(31.3) 58(23.8) 33(23.2) 101(24.2)
GSTT1 (%)
17(53.1) 133(54.5) 79(55.6) 229(54.8)
15(46.9) 111(45.5) 63(44.4) 189(45.2)
GSTM1 (%)
13(40.6) 90(36.9) 51(35.9) 154(36.8)
19(59.4) 154(63.1) 91(64.1) 264(63.2)
- CYP1A1
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DNA

(%) (%) (%)  Totd p
(n=9) (n=85) (n=54) (n=148)
DNA
414(46.0) 4311(50.7)  3287(60.9) 8012(54.1) <0.0001
240(26.6) 2315(27.2)  1646(30.5)  4201(28.4)
125(13.9) 980(11.5) 240(4.4) 1345(9.1)
50(5.6) 312(3.7) 82(1.5) 444(3.0)
71(7.9) 582(6.9) 145(2.7) 798(5.4)
Tota 900 8500 5400 14800
DNA (%)
p* p?
46.0+19.3°  50.7417.2 60.9+16.8 0.019 0.0008
26.6+8.1 27.2+412.3  30.5#16.2 0.49 0.18
13.9+16.1 11.5+9.8 44435 0.002 <0.0001
5.645.7 3.7£3.6 1.5¢1.9 0.0001 <0.0001
7.9+7.7 6.9+6.4 27435 0.0014 <0.0001
DNA 102.7451.5  88.7#340  54.7+24.4 <0.0001  <0.0001
*a P Mean+SD.
p* ttest p? t test
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*

CYP1A1 GSIT1

DNA

DNA (n) OR 95 Cl
( <65) ( >65)
X(CYPIAlwiw  wiv + GSTT1 ) 12(60.0%)  8(40.0%) 1.00
X (CYP1A1lvlv + GSTT1 ) 1(33.3%) 2(66.7%) 1.33 (0.06~9.72)
X (CYPlAlwiw  wiv+GSTT1 ) 11(28.2%)  28(71.8%) 3.82 (1.23~11.87)
X (CYP1A1lvlv + GSTT1 ) 1(50.0%) 1(50.0%) 150 (0.08~27.61)
X (CYPLALlw/w  wiv + GSTT1 ) 2(33.3%) 4(66.7%) 3.00 (0.44~20.44)

x (CYPLALv/v + GSTT1 )

OR=oddsratio C.I=
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CYP1A1 GSTM1

DNA

DNA (n) OR 95 C.I
( <65) ( >65)
X(CYPIAIWW WiV + GSTM1 )  18(69.2%)  8(30.8%) 1.00
x (CYPIAL VNV + GSTM1 ) 1(25.0%)  3(75.0%) 1.33 (0.07~8.36)
x (CYPIAlwiw  wiv+GSTM1 ) 16(314%) 35(68.6%) 4,92 (1.77~13.67)
x (CYPIAL VNV + GSTM1 ) 1(33.3%)  2(66.7%) 4.50 (0.36~57.11)
x (CYPIAlww  wiv + GSTM1 ) 2(33.3%)  4(66.7%) 4.50 (0.68~29.81)

x (CYP1AL viv + GSTM1 )
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CYPIA1 NAT2 DNA
DNA (n) OR 95 C.
( <65) ( >65)
X(CYPIALwiw ~ wh +NAT2 ) 24(70.6%)  10(29.6%) 1.00
x (CYPIAlwiw ~ wi +NAT2 ) 19(32.8%)  39(67.2%) 4.93 (1.97~12.35)
X (CYPIALw/w  wiv + NAT2 ) 2(33.3%) 4(66.7%) 4.80 (0.75~30.55)

CYP1Al1lv/v + NAT2
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DNA

DNA ) OR 95%C. aOR 95%C.
( <65) ( >65)
30 35((45.5%) 42(54.5%) 1.2 (0.6~2.3)
30 29(40.9%) 42(59.1%) 1
2(33.3%) 4(66.7%) 1.6 (0.3~8.9)
61(44.2%) 77(55.8%) 1
3(33.3%) 6(66.7%) 1.4 (0.3~5.9)
52(41.3%) 74(58.7%) 1
3(33.3) 6(66.7) 4.8 (1.1~21.4) 18.1 (1.3~251.4)
23(27.1) 62(72.9) 6.4 (3.0~13.6) 7.6 (3.3~17.8)
38(70.4) 16(29.6) 1 1
12(37.5) 20(62.5) 15 (0.5~4.0) 1.9 (0.6~5.4)
25(39.1) 39(60.9) 1.4 (0.6~3.2) 1.5 (0.6~3.8)
15(46.9) 17(53.1) 1 1
(ng/m) 25 25~75 75

aOR
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DNA

DNA (n) OR 95%C.|
( <65) ( >65)
CYPIAlwiw  wiv+GSTT1 40(61.5) 25(38.5) 1
CYPIALv/v +GSTT1 2(40.0) 3(60.0) 24 (0.4-15.4)
CYPIAlw/w  w/v+GSTM1 47(56.6) 36(43.4) 1
CYPLALV/V + GSTM1 3(42.9) 4(57.0) 17 (04-83)
CYPIAlw/w  wiv +NAT2 53(54.1) 45(45.9) 1
CYPIALVA +NAT2 1(25.0) 3(75.0) 35 (04-352)
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